®A UV T R

E b—F Ak
—ir—

2I 0

1 1
—

F h—F X2k

0

i

] [

\S}

e 4
KRB
5 &
i
b B2
E
LA BT
A B

B 7 35 R

A —F AUk

)

—
wllo =l T

Li=E
BH Ek.C
bi=D
F 5B
IR B
RC
5B

ANEB

$26[@ PHEZMMPFEVINT ZRAR

201458 H24H

< T b—FAK >

MRS AE BIREDKS

4 G F—T%DFS &
#1114t 2 It 2
o H h—F ATk
o S g S S —
< R b—FAUF >
12 2] 6 ik
1 1 2 0 A5 B
0 2 WA 0 1 Edby 2=y
2 2l 21 | of e
1 0 0 2 #IAE
P o 2 0 Y Rk
0 0 0 1 M TR
B of # oW
< FE F—FAVF >
‘ C h—F AUk ‘
gﬁéég _2_ _1{ gﬁ?ig —
4tg§§m N 2] { %g%g 1
ALy a7 0 F_T)is: JiB
e = g e
AEB 2 5B
< B F—FAUE >
2 2 BARB
1 2 2 0 ANEC
0 1 AR 0 0 4B
2 2 (;TE 1 of S| Aty
1 1 2 L —— Jhi HEB
2 1 0 2k Jb=C
1 2 2 0 ALEB
'2 2! 1tiB



